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Question Id : 9209066372 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Ui & YR IR Uyl & IR difore

ffie, &or 2R H I9! Y81 Sl -
TEH! g3 TR0 81 3141 $9 a1 uga,
e 89 & A9 4 77 of A

3R 31 ¥ &1 diefi 1 g8 Ueie
1 offel & gua o@ @S 1d §,
7 A1e IR ues, ggd! ol 8|
ded 3! 8T a@dn 4R 4R

s gl & @g W T gnfEal
g W T T s HEHdl 9<id
dcl bl TS g @1, 3T § a8l
3R TERT AP &S H <2l BT

B U A B W B

H afarep ¥ 1 49 HY dedl o

Sub questions

Question Number : 1 Question Id : 9209066373 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A4 frae div 9 97

(1) SMMHE 2) UHF
(3) dF 4) HI &
Options :

92090625201. 1
92090625202. 2
92090625203. 3
92090625204. 4

Question Number : 2 Question Id : 9209066374 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

H 39! &e db @dl g

(1) AR 2) AW
(3) &UIWR @) TaMH
Options :

92090625205. 1
92090625206. 2
92090625207. 3
92090625208. 4

Question Number : 3 Question Id : 9209066375 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y I B yded 7d 9 el 87

(1) &S Ol (2) BIe e
(3) & ae (4) Hewre ardf
Options :

92090625209. 1
92090625210. 2
92090625211. 3
92090625212. 4

Question Number : 4 Question Id : 9209066376 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TE $U IR yed dgdl ol 67

(1) WIW 2) ARW
3 TWW 4) IRW
Options :

92090625213. 1
92090625214. 2
92090625215. 3
92090625216. 4



Question Number : 5 Question Id : 9209066377 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TSl 9 vl I dg 1 Mt 82

(1) HUsgdai | (2) HATA
(3) SFARFG Ui | 4) BT |
Options :

92090625217. 1
92090625218. 2
92090625219. 3
92090625220. 4

Question Id : 9209066372 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

e & YR W sl & Ir difore

ffeie, eor R & Gp! YT Sl -
TEH1 43 IR0 81 34141 $9 fa ued,
a1 & AT 4 A7 o

3R I & 91 Nedf BT g uered
o offdl & v s wdt d 9,
= ¢ TR Ued, 9gdl ot ¢

ded 3! 81 S@dn 4R dR
AT Ol § e W) T nfsal
g R T T FE HEHel 941d

9d &el TS g @1, S dgd
3R UERT &R TS 1 el Bl
WW W T Fe FW B

# 3fdTep T8 71 49 $ TEdl 8

Sub questions

Question Number : 1 Question Id : 9209066373 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

A4 fras dia 91 97

(1) WS 2) UHE
(3) TNF @4) HR &
Options :

92090625201. 1
92090625202. 2
92090625203. 3
92090625204. 4

Question Number : 2 Question Id : 9209066374 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

# 3! e ab @dl IEI?

(1 AR 2) IdWR
(3) &UIWR @) YdH
Options :

92090625205. 1
92090625206. 2
92090625207. 3
92090625208. 4

Question Number : 3 Question Id : 9209066375 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y e &1 gee 7d 9 el 87

(1) & uref (2) Ble gl
(3) & Ui (4) Head gref
Options :

92090625209. 1
92090625210. 2
92090625211. 3
92090625212. 4



Question Number : 4 Question Id : 9209066376 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T2 FY W UeH dadl odl 82

(1) WIWR 2) ARW
3) W 4) I W
Options :

92090625213. 1
92090625214. 2
92090625215. 3
92090625216. 4

Question Number : 5 Question Id : 9209066377 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ol 9 Ui & dg W TR 2

(1) Sffs i | (2) FATAY
(3) SARAd i | 4) BIUAi g
Options :

92090625217. 1
92090625218. 2
92090625219. 3
92090625220. 4

Sub-Section Number : 2
Sub-Section Id : 920906201
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 9209066378 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



BY WY T 21 T2

(1) g g3 (2) HEHW F51d
3) UYdg<d 4) JHBIA <1
Options :

92090625221. 1
92090625222. 2
92090625223. 3
92090625224. 4

Question Number : 6 Question Id : 9209066378 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B HY 91 1 TR

(1) 9%he d=<id (2) AEHd g<id
3) UYdg<Q 4) JHBIA F<I1d
Options :

92090625221. 1
92090625222. 2
92090625223. 3
92090625224. 4

Question Number : 7 Question Id : 9209066379 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Gifayl

14 fau 7 fasedi # 9 el SR &1 994 Sifou
(1) SadA3RB

2) HEAC3HRD

(3) FAADSMRE
(4) &dd B3R D

m

Options :

92090625225. 1
92090625226. 2
92090625227. 3
92090625228. 4

Question Number : 7 Question Id : 9209066379 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Gifayl

2 fau v fasedi 9 9l IR &1 994 Hiforg
(1) HadARB

2) HEAC3HRD

(3) HAADSIRE
(4) &dd B3R D

m

Options :

92090625225. 1
92090625226. 2
92090625227. 3
92090625228. 4

Question Number : 8 Question Id : 9209066380 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafiied & o9 91 a1 = 82

A.  dgl 3] A HINE B

B. 8l 3% AN HIGE |

C. g8l 3Hd al Ai9g 3|

D. gl @I 3FHT HIE g

=i fou U fashedl # 9 Tl IR &1 99 Hifele -

A
@ B
@ C
4 D

Options :



92090625229. 1
92090625230. 2
92090625231. 3
92090625232. 4

Question Number : 8 Question Id : 9209066380 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafiied & o9 91 a1 = 82

A. Tgl S A AN g

B. &l 3% Ar HIGE |

C. dgl 3fHd ali Ai9g 3|

D. gl a 3F®I ANE g

A9 fou U fasked # 9 Wl IR &1 9 HIfeL -

B A
(2) B
-
4 D
Options :

92090625229. 1
92090625230. 2
92090625231. 3
92090625232. 4

Question Number : 9 Question Id : 9209066381 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tl | & 1Y G 11 B A S

G-I Tt i
PIE AP o
(A) BR (1) wEsE
@) 3 () ey
(€) & () TReg
(D) D (V) e

12 fau v fasedi © 9§ el IR &1 994 ST

(1) (A)-(l), (B)-(1V), (©O-(l), (D)-(1)
(2) (A=), (B)-(11), (C)-(11), (D)-(1)
(3)  (A)-(), (B)-(IN, (C)-(n), (D)-(IV)
(4)  (A)-(l), (B)-(1), (C)-(I), (D)-(IV)

Options :

92090625233. 1
92090625234. 2
92090625235. 3
92090625236. 4

Question Number : 9 Question Id : 9209066381 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tl | & 1Y G 11 B A S

G-I Tt i
PIE AP o
(A) BR (1) wEsE
@) 3 () ey
(€) & () TReg
(D) D (V) e

12 fau v fasedi © 9§ el IR &1 994 ST

(1) (A)-(n), (B)-(1v), (-, (D)-(1)
(2)  (A)-(V), (B)-(), (C)-(I1), (D)-(I)
(3)  (A)-(). (B)-(1), (©)-(l), (D)-(IV)
4)  (A)-(), (B)-(1), (C)-(I), (D)-(IV)

Options :

92090625233. 1
92090625234. 2
92090625235. 3
92090625236. 4

Question Number : 10 Question Id : 9209066382 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR B ASYSY Ped o dred | fagmu g

(1) =g (2) wegey
3) @ @ B
Options :

92090625237. 1
92090625238. 2
92090625239. 3
92090625240. 4

Question Number : 10 Question Id : 9209066382 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AR ! ASYSY Ped o dred | fagmu g

(1) o (2) WEYsY
3) 4 B
Options :

92090625237. 1
92090625238. 2
92090625239. 3
92090625240. 4

Question Number : 11 Question Id : 9209066383 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IR sarel 91 fAaw @t g feedft fd W 15% arftfe sore @t v @ 3 avf A 7 10,350 =
e 81 e @1 18 iR Jra i)

(1) T 22,800 (2) ¥ 23,000
(3) T 24,000 (4) T 24,500
Options :

92090625241. 1
92090625242. 2
92090625243. 3
92090625244. 4

Question Number : 11 Question Id : 9209066383 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR &6 W 3w &t 73 et afy ov 15% aiftie soe @t e 3 W A 7 10,350 =AW
3fran g1 e &1 18 af gra Fifsn

(1) T 22,800 (2) 23,000
(3) T 24,000 (4) ¥ 24,500
Options :

92090625241. 1
92090625242. 2
92090625243. 3
92090625244. 4



Question Number : 12 Question Id : 9209066384 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

30 cm T3 9161 4T 1 U 319 71141, 80 cm T dTd U §aT6R U H STar 741 gfe o
iR &9 Y U F 4RT 8 aUT SHH STl 41 Ml I o¥e S6 71 8, ol ofd-%R a1 Sl
HRICIE

(1) 25 cm (2) 22.5cm
(3) 22 cm 4 21.8cm
Options :

92090625245. 1
92090625246. 2
92090625247. 3
92090625248. 4

Question Number : 12 Question Id : 9209066384 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

30 cm g1 91aT YTd &1 UH 319 7dl, 80 cm o4 dIdl Udh deHIbR UE | STar 71411 afd uF
HifRI® T I T 8 W 8 a1 9 STal 1 7ial Ol a8 §d 741 €, ol Sd-%R fdha-T Gl
EIRISIF

(1) 25 cm (2) 225cm
(3) 22 cm 4 21.8cm
Options :

92090625245. 1
92090625246. 2
92090625247. 3
92090625248. 4

Question Number : 13 Question Id : 9209066385 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UL A T 42,000 Y b U AUR AR fHa1| 31 AgH 1€ 2 35,000 HT I b
1 39S 1Y TS TS| 9 HElHT & ofd T Fd @I 31,570 YT & H {1 ST 4R 2 ) &

(1) 12,400 (2) 12,628
3) 12,825 4) 12,980



Options :

92090625249. 1
92090625250. 2
92090625251. 3
92090625252. 4

Question Number : 13 Question Id : 9209066385 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R A 2 42,000 W HXb UH AR R™ fba11 &1 | 918 2 35,000 BT I Hb
31 39S 1Y TS TS| SH HEHI & o T Fd A 231,570 YT AH H 1 H1HAT R ) &

(1 12,400 (2) 12,628
(3) 12,825 (4) 12,980
Options :

92090625249. 1
92090625250. 2
92090625251. 3
92090625252. 4

Question Number : 14 Question Id : 9209066386 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

107 +7° +243 = x* +5 H x &I HF FId Bifolw

(1) 21 2y 22
(3) 23 (4) 24
Options :

92090625253. 1
92090625254. 2
92090625255. 3
92090625256. 4

Question Number : 14 Question Id : 9209066386 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



102 +7° +243 = x> +5 H x B HAM FId Hifelw

(y 2 (2) 22
(3) 23 4) 24
Options :

92090625253. 1
92090625254. 2
92090625255. 3
92090625256. 4

Question Number : 15 Question Id : 9209066387 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UF wfad Ufdfed 9 He IR & gY 70 & # 1200 km 1 g 99 Tl ¢ 1 TS a8 ufafeA
10 ©¢ 3R &Y YT 39 Ugd dreil 7id 9 1% T 7] ¥ 9, o1 98 840 km 1 gl fba
&= & T s

(1 39 (2) 33
3 35 (4) 37
Options :

92090625257 1
92090625258. 2
92090625259. 3
92090625260. 4

Question Number : 15 Question Id : 9209066387 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UF fad Ulafed 9 €2 iR @Rd gY 70 &7 # 1200 km &1 g 99 FXal €1 A g ufafeA
10 ©¢ 3R HY YT 39 Ugd diei 7fd 9 1% T 7] ¥ 9, o1 98 840 km 1 gl fba
fea 7 ag sy

(1) 39 (2) 33
3y 35 4y 37

Options :



92090625257. 1
92090625258. 2
92090625259. 3
92090625260. 4

Question Number : 16 Question Id : 9209066388 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ud Hg GOY $I 3R FIRT A gU AT A Sl TUS1 Thaldl Wis B0 G & foar &1 far g1
39 goN &1 3 A 1 frgan g2

(1) <al @) foa
(3) aidd (4) weI-gA-l
Options :

92090625261. 1
92090625262. 2
92090625263. 3
92090625264. 4

Question Number : 16 Question Id : 9209066388 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UF Hg GO $1 3R IIRT HXd g0 AT A FHeT 39H1 Uhalal 1S B8 Tt & foar w1 A 21
39 7oy &1 33 I F1 fegar &2

(1) <al @) foa
(3) sidd (4) weR-g4-al
Options :

92090625261. 1
92090625262. 2
92090625263. 3
92090625264. 4

Question Number : 17 Question Id : 9209066389 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ued Hpfd &1 o/d U O & 4 W W81 oidl ¢ a4 3 favg aret waw 1 fqufa e & fram
fog RE &

o o

= o |o o
o 4] =]
=] o | L)
[+ ]
o
o 4]
(2 () 4
(3) 5 4 6
Options :

92090625265. 1
92090625266. 2
92090625267. 3
92090625268. 4

Question Number : 17 Question Id : 9209066389 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ued Hpfd &1 o/d U O & 4 W W81 oidl ¢ a4 3 favg aret waw 1 fqufa e & fram
fog RE &

o o

(n 2 2) 4
3} 5 4 6

Options :

92090625265. 1
92090625266. 2
92090625267. 3
92090625268. 4

Question Number : 18 Question Id : 9209066390 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

337 g & fere Ol fasey &1 9g- & -

A70:349::478:7

(1 470 (2) 487

(3) 471 4) 474
Options :

92090625269. 1
92090625270. 2
92090625271. 3
92090625272. 4



Question Number : 18 Question Id : 9209066390 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3131 ug & fore uel faweq &1 907 &Y -
470:349::478:7

(1) 470 (2) 487
(3) 471 (4) 474
Options :

92090625269. 1
92090625270. 2
92090625271. 3
92090625272. 4

Question Number : 19 Question Id : 9209066391 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HYF BT Y Ud YaURN SRT Fgifdsd usi &1 3w d |

Y gg die-d ¢ [ o= & ¥pa 1 5 a4 &1 31g T US|
UdYRON  |: 39 g H = A & Iugdd WR W Ugd 9% gidl & 3R e & fau
GRIEESGIN

Il: 694 $I Y F 918 T =1 &1 GG ] Bl

(1)  Paa gdyron | iR 8

(2) Paa qdyron | 1 siafifed 8

(3) GHIAYHSTH T Hafiied s
(4) AdARAE I AR 8

Options :

92090625273. 1
92090625274. 2
92090625275. 3
92090625276. 4

Question Number : 19 Question Id : 9209066391 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HY D1 U Ud YR SURT FHgifdrd welf &1 3w &d |

U gg 9ie-1 ¢ [ 9= &1 Wpa 1 5 94 31 oy T U1 9|
TdYROT  |: 39 oMY H g1 AP & Iuged wWR W Ugd @ aidl ¢ iR drEd & fae
JOR Bl B

Il: 694 P HG F dI8 Tod =1 B Gl gl Bl

(1)  &ad gduron | sidfifed g

(2) Pad gduron | 11 fafifed g

3) CFIHAPETH O faHRdE
4) AdiSRAE I iaFfea e

Options :

92090625273. 1
92090625274. 2
92090625275. 3
92090625276. 4

Question Number : 20 Question Id : 9209066392 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wfdar 10 faardier IR @ 3R, 981 ¥ 6 faidier fém #t ok, aaynd 98 3 ol e
@1 3R Fad! g1 3 R fawg & deuf o ag fara-it gt wr aiR favw femm @2

() 10 & Iuv ufam ) 6 o gfémr afgm
3) 5 fos.. férmr afsm @ sfEd Tm@Re
Options :

92090625277. 1
92090625278. 2
92090625279. 3
92090625280. 4

Question Number : 20 Question Id : 9209066392 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fadr 10 feetiey I &t 3R, 981 U 6 fdhaiiex glém &t ok, aayrq 9g 3 feandley e
&I AR Fardhl g1 30 SRS fawg & Hay # a8 fFa-it gt wr ik forw feam & @2

() 10 f& e Iuv ufam ) 6 & afém afgm
3) 5 fos.af. gfémr afsm @ sfFHImEe
Options :

92090625277. 1
92090625278. 2
92090625279. 3
92090625280. 4

Question Number : 21 Question Id : 9209066393 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl | & 91y gl 1 @1 T Sl

- gt -
(Aa) Sfiefeay () TR U
(B) SMISICIUG] () vl & Heifera sfrefe wma
(€) Sffdfedear (Y @fEan &1 st
(D) SHiFeaTars (V) &d &1 g SR fagH
e fau U fasedi § | 9El IR &1 99 BT
(1) (A)-(), (B)-(1V), (O)-(1), (D)-(II)
(2)  (A)-(I), (B)-(1v), (C)-(1), (D)-(11)
(3)  (A)-(IV), (B)-(I1), (C)-(1), (D)-(III)
(4) (A1), (B)-(IV), (C)-(l11), (D)-(1)
Options :

92090625281. 1
92090625282. 2
92090625283. 3
92090625284. 4

Question Number : 21 Question Id : 9209066393 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



! | & Ty gt 1 1 HeH Sifor:

gdl-| Tt i
(A) ST () FIEfd IS
(B) SiTSICIuIG! () ol | Heiftra sfrafe wma
(€) HaRUFHeER (SR (@FEN) o1 ST
(D) SHfEHTaren (IV) &d &1 g 3R fagm
419 fau U fadhedl © 9 9d IR &1 9G4 BT
(1) (A)-(), (B)-(IV), (C)-(1), (D)-(l1)
(2)  (A)-(I), (B)-(1v), (C)-(1), (D)-(11)
(3) (A)-(IV), (B)-(l1), (C)-(1), (D)-(li1)
(4)  (A)-(I), (B)-(IV), (Q)-(ln), (D)-(1)

Options :

92090625281. 1
92090625282. 2
92090625283. 3
92090625284. 4

Question Number : 22 Question Id : 9209066394 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& U gEgIPIa- Ud Ul St (LPG) & T U §?

(1)  &ad fAaga 2) s sda
(3) WIUA 3R &< (4) U 3R &geA
Options :

92090625285. 1
92090625286. 2
92090625287. 3
92090625288. 4

Question Number : 22 Question Id : 9209066394 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



®H U gIEgIPbIa- U Ul Sft (LPG) & T U &2

(1)  &ad fAgF (2) T iR 3dA
(3) I 3R A (4) W 3R =ged
Options :

92090625285. 1
92090625286. 2
92090625287. 3
92090625288. 4

Question Number : 23 Question Id : 9209066395 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SHECEE
A e ® ya &4 dran uyH Afdd tsdE g1Ee 8l
B. HgHI U HIHd HI WA dTal Uy e% 4 UuU
C.  3f=Ier ® Sarer UyH HRdY Jeh i
D. WYH Uar # Hire Sfikfaex # S aren yuw == 21
- few e fwedt & @ 9t S &1 99 Fifore

(1) &ad A3MRB

(2) ®ad A B3RC

(3) &ad B3HRD

(4) F9d BIHRC
Options :

92090625289. 1
92090625290. 2
92090625291. 3
92090625292 4

Question Number : 23 Question Id : 9209066395 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T HU T -

A Sfdfe ® yaw HA drean uyH Afdd usdE ®1Ee 8l
B. dgHI TR HFd &I Yo aral UYH &% JUH.U

€. 3f=INer H SErer UYH HRdY I i

D. WuH Uard # Te Sfikfaex # o aren gyH S 21
A few e R § & 9t I &1 99 Fifon

(1) &ad A3fRB

(2) $dd A B3RC

(3) ad B3HRD

(4) ¥9d B3R C
Options :

92090625289. 1
92090625290. 2
92090625291. 3
92090625292. 4

Question Number : 24 Question Id : 9209066396 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
I 91 d¢ J&Td: IMHd ey H fidels 391 82

(1) Tojdg (2) WHdg
(3) 3yddg 4) B
Options :

92090625293. 1
92090625294. 2
92090625295. 3
92090625296. 4

Question Number : 24 Question Id : 9209066396 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



S 91 d¢ J&Td: AMHA ey H fidreis 3971 82

(1) T9jdg (2) WG
3) Suddg @) FIC
Options :

92090625293. 1
92090625294. 2
92090625295. 3
92090625296. 4

Question Number : 25 Question Id : 9209066397 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
R d sy Ru U §:
Y| ;. HRdE WaUE H UHd AMREedr &1 [d9r S dfaur § sifter G i gl

U Il :  HRAY AU & 3= 51 A & ded Jayd daor’ WiF & FfayE ¥ sifier
a1 B

IR HYA & 3fTdied H, i< AU 77U fabeul # § a8 Iuga I &1 99 Difelu

(1) YR IEH TR
(2) YA SR I ESH Ted @
(3) Y| TS B, Al YA 11 Ted &
(4) YA TTAd 8, Afchd HYF 11 96l §

Options :

92090625297. 1
92090625298. 2
92090625299. 3
92090625300. 4

Question Number : 25 Question Id : 9209066397 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



9 gl FyA Rumu &
FYT| :  HRAW Ty § Ted Amiiear &1 foar fafew dfaum O sifter far m g

U wﬁgﬂmaﬂa@?ma%aﬁaqﬁ%aﬁm HiY & dfauH ¥ siiffeR
o icd

SRR HY & 3fdiew H, i< AU 77U fabel 7 I a8 Iuga Ju &1 99 Difele

(1) YR ISHA TEl 8
(2)  HYFI SR I ESH T @
(3) YA | Bl g, Al HY || TTad &
(4) ®YFITAd §, Afchd HYF 11 98l ©

Options :

92090625297. 1
92090625298. 2
92090625299. 3
92090625300. 4

Part B: Statistics

Section Id : 920906128
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section 1d : 920906202
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 9209066398 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i y 1 | S . N .
The infinite series Z(— + —— | 1s convergent if J lies in the interval

\“21--'{.} ”-1
1 1 21
L (_‘_,m} (2) [—f,—;
L 3 J 3 r,]
( 2) 2
@  |-e -z @ |-=. =
\ 1 e o J

Options :

92090625301. 1
92090625302. 2
92090625303. 3
92090625304. 4

Question Number : 26 Question Id : 9209066398 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S At Z[ AL | st 2R 5 s § e 2 -

1 A [ 1 2%
1 = ol D
W [ 3 J @ -
ri l_’.\l s } W
3) R i i
( |1 U] @) [ : J

Options :

92090625301. 1
92090625302. 2
92090625303. 3
92090625304. 4

Question Number : 27 Question Id : 9209066399 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Suppose m >1 and n >1 are two positive integers and the positive-termed series Y u, and

i, v : .
=z —2 for all n 2 m. Then ¥ u_ is convergent if

”.'l +1 r"lr: +1

¥ v, are such that

. : 1
(1) Yo, 18 convergent (2) X — isconvergent
U

“n

(3) X v, is divergent 4 X l-— 18 convergent

Uy



Options :

92090625305. 1
92090625306. 2
92090625307. 3
92090625308. 4

Question Number : 27 Question Id : 9209066399 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

W mo>1 A ao>1 F SETHS [N § 09 SIS Tl 6 St Tu, 79 T, 39 WER 8 TR
T > Tu p o> m B AET F T T Y, e g ot

[ v

n+l n+l

)  To, shmEdd @ YL sfmErd i
r.lu'!

(3 Lo, FEHE R (4) Ei FferEm 2
,;
Options :
92090625305. 1
92090625306. 2
92090625307. 3
92090625308. 4

Question Number : 28 Question Id : 9209066400 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the sequences {u”:} — 5 and {EJ_,I} - —1;- then the value of Iim = Ir:”h] +a, 0+ 4 u.l{r”] 18

5] n—¥== fL

equal to

(1)

—
—
2
—
[
aT]

(3)

o | e
b 3T
o

Options :

92090625309. 1
92090625310. 2
92090625311. 3
92090625312. 4

Question Number : 28 Question Id : 9209066400 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

by + ... +ab, | 1 9F TR -

n-1

afe HFH {a”} — 5 T {:‘Jn} — %— B, 7 lim : iuH-le +a
(5]

fi—=o Il

(1)

[
&

(2)

1

1
- (4)
5

b2
om

(3)

Options :

92090625309. 1
92090625310. 2
92090625311. 3
92090625312. 4

Question Number : 29 Question Id : 9209066401 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The sequence {::_,,} defined by a, = J2 and 1,1 =42+ a, converges to

(1) 1 2 2
@ 4B 4 2
Options :

92090625313. 1
92090625314. 2
92090625315. 3
92090625316. 4

Question Number : 29 Question Id : 9209066401 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A fo | mOER A UONE R R @, = V2 T a, = 2+ a, , T S0 AhmETE 92 -

(1} 1 2y 2
@ 3 ) 2

Options :

92090625313. 1
92090625314. 2
92090625315. 3
92090625316. 4



Question Number : 30 Question Id : 9209066402 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the sequence {H"} 15 positive termed and monotonic decreasing sequence, then the infinite

series » u, converges if

. 1
(1) w, =0 as n — e 2) —u, =0 asn— =
n

(3) {nu”} 18 a bounded sequence 4 w, 20andnu, - 0asn e

Options :

92090625317. 1
92090625318. 2
92090625319. 3
92090625320. 4

Question Number : 30 Question Id : 9209066402 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afg A (u,) UF TS TG A1 UHGR SEAH WIEA £, 78 I A9 o, sAfEia @6 2, af

(1) u, = 0F80n 3= (2) lu” 20 n— =
1

(3)  (nu,) T AEG IR (4 w, 20T nu, -0 @ n - =

Options :

92090625317. 1
92090625318. 2
92090625319. 3
92090625320. 4

Question Number : 31 Question Id : 9209066403 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If f(x) =Ix" + mx + n, x € [a, b], then point C given by Lagrange Mean Value Theorem is

given by
1) { -:m @) "er
3 Aab wy 2E0

2

Options :



92090625321. 1
92090625322. 2
92090625323. 3
92090625324. 4

Question Number : 31 Question Id : 9209066403 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

G f(x) = Ix* + mx + n, x € [a, b], T4 AU WA qA G4, T fag C fem = 2 -

(1) ;t”’ @  im
3 JJab (4) {’:b
Options :

92090625321. 1
92090625322. 2
92090625323. 3
92090625324. 4

Question Number : 32 Question Id : 9209066404 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If 22" + Tx" +x-6=2(x-2 +a(x—-2)" + B(x —2) + y, thenvalueof @ + B + 7. is

(1) 19 (2) 53
(3) 40 4 112
Options :

92090625325. 1
92090625326. 2
92090625327. 3
92090625328. 4

Question Number : 32 Question Id : 9209066404 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A 27 + Tl +x-6=2x -2 +a(x-2+B(x—-D+y W a+ f+y FAA E-

1 19 (2) 53
(3) 40 @ 112

Options :

92090625325. 1
92090625326. 2
92090625327. 3
92090625328. 4

Question Number : 33 Question Id : 9209066405 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Let [ : R* — R be defined by

[ :ir2+.;-2
fx. 9)=14f9x% +3y2 +1-1

|

(4. (x, ¥)=(0,0)

(x. ) #(0, 0),

The value of 4, so that [ is continuous at (0, 0), 1s
(1) 2/3 @) 1
3 9 4y 18

Options :

92090625329. 1
92090625330. 2
92090625331. 3
92090625332. 4

Question Number : 33 Question Id : 9209066405 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



afe f: R* - R 38 &R Tioaa & T

3x2 + 7
fx. 9)=1022 +3y% +1 -1
|4, (. ) =(0, 0)

x, )20, 0,

A F faw £, 0, 0) Waa 2

(1) 2/3 @ 1
(1] 9 (4) 18

Options :

92090625329. 1
92090625330. 2
92090625331. 3
92090625332. 4

Question Number : 34 Question Id : 9209066406 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of roots of the equation [ (x) = 27 —x +1 =0 that lie between 0 and 1 is
(1) 0 @ 1
(3) 2 4 3

Options :

92090625333. 1
92090625334. 2
92090625335. 3
92090625336. 4

Question Number : 34 Question Id : 9209066406 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TFE [(x)=x" —x+1=0 FqA RTENAN0OTN | F &9 a2, £ -

(1) 0 @ -1
(3 2 4 3

Options :

92090625333. 1
92090625334. 2
92090625335. 3
92090625336. 4



Question Number : 35 Question Id : 9209066407 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e® —2(' —e") + log(1+20) -1 =

¢

lim
=

(1) 2y -1

Lo &n

(3) 2 4 -2

Options :

92090625337. 1
92090625338. 2
92090625339. 3
92090625340. 4

Question Number : 35 Question Id : 9209066407 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e —2(' —e*)+log(l+20)—1 _

oy

lim
t ==

(1) 2y -1

o | o

(1) 2 (4 -2

Options :

92090625337. 1
92090625338. 2
92090625339. 3
92090625340. 4

Question Number : 36 Question Id : 9209066408 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Let A={{x, ».2,x>0,y>0,2>0 and x+y+z =1}, Then value of

_l-_”{-‘-' + v + z)dxdvdz is equal to
A

(1) 1/8 (2 112
(3) 124 (4) 136

Options :

92090625341. 1
92090625342. 2
92090625343. 3
92090625344. 4

Question Number : 36 Question Id : 9209066408 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U A={(x, v, 2), x>0, y>0,z>0 AWM x + y+z <1} 79 j_[_[qx + y + 2) dxdydz F1 A
A

T E -

(1) 1/8 2y 112

(3) 1/24 (4) 1/36
Options :

92090625341. 1
92090625342. 2
92090625343. 3
92090625344. 4

Question Number : 37 Question Id : 9209066409 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

0 -

Volume generated by revolving ellipse -1; - -;f-:- =1 about x-axis is
a” -
-.l. a 2 i
(1) 3 mh” (2) Ej'ru[r'
: 1 2 2
(3 = mh (4) 4mb

Options :

92090625345. 1
92090625346. 2
92090625347. 3



92090625348. 4

Question Number : 37 Question Id : 9209066409 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

x —38 % =T 3 afEend dda l—+;__13m31’:m WA & -
Tt

)

| b=

i
mh”

(1) }—imb: (2)

-
(]

(3 %.mh! (4)  Amb®

Options :

92090625345. 1
92090625346. 2
92090625347. 3
92090625348. 4

Question Number : 38 Question Id : 9209066410 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ng s #ar ) N
= Er— wl (N —u) -
[f N is any positive integer and &, = j[ ‘ [ N |rfn . then the value of E d,, 18
njI\N —nj

gv £ =0

(1) 0 2 N
. 1
(3 N- 4y —
J- Lﬂr
Options :

92090625349. 1
92090625350. 2
92090625351. 3
92090625352. 4

Question Number : 38 Question Id : 9209066410 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ﬁxﬁm w%w 5. _Tr:.r“][h’—qu“rﬁ iaﬁaﬂm—_{%_

S\ N —n g
(1) 1] 2 N
" 1
{:'; N- {'4 2
) ) N
Options :

92090625349. 1
92090625350. 2
92090625351. 3
92090625352. 4

Question Number : 39 Question Id : 9209066411 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a

1 .
If the length of arc of the curve y = EZ - ‘__‘1“1'-‘-'15"; x fromx=1tox=2,is a +blog, 2, then
value of a + 2b, is
(1) 1 (2) 2
] 3 (4 8

Options :

92090625353. 1
92090625354. 2
92090625355. 3
92090625356. 4

Question Number : 39 Question Id : 9209066411 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Iz 1 T L .
afe == y=Z-gle.x H AN H TEE xr=1H x=27F a+blog, 2 &, 7@ a+2b &

oA 2-
(1) 1 2y 2
(3 3 (4) 8

Options :

92090625353. 1
92090625354. 2
92090625355. 3
92090625356. 4



Question Number : 40 Question Id : 9209066412 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

u

N
If N is any odd positive integer and &, j[
n N -n

oA N

N —
[ : ”Jffn. then the wvalue of

N-1

Y NS, + 8y, is

n=0F

(1) 1 2y N

{(3) N* @ —

Options :

92090625357. 1
92090625358. 2
92090625359. 3
92090625360. 4

Question Number : 40 Question Id : 9209066412 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

N-1

aﬁ\ﬂﬁ‘"ﬁwm@ﬁi%amﬁ_“””: ]du?ﬁiZf‘» (5, + 5, ) FAAR -
I:I"-” ‘».‘I_H

(1} 1 2y N

N 1

3 N- 4 i

(3) (4) N
Options :

92090625357. 1
92090625358. 2
92090625359. 3
92090625360. 4

Question Number : 41 Question Id : 9209066413 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ifie 0 e| isskew symmetric matrix, then minimum value of (o + b + e +(d+e+ I.I"]IE ;
ld 5 f

8

(1} 1 2y 4

(3 3 4y 8

Options :

92090625361. 1
92090625362. 2
92090625363. 3
92090625364. 4

Question Number : 41 Question Id : 9209066413 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a —1 b

A (e 0 e | U fouq 99i4a AR 2, @ (a + b+ ¢)* + (d + e + [)* 1 =00H 9 &-
d & f

(1) 1 (2) 4

3 3 (4 8

Options :

92090625361. 1
92090625362. 2
92090625363. 3
92090625364. 4

Question Number : 42 Question Id : 9209066414 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[1
The sum of reciprocals of characteristic roots of the matrix |2 3 4] 1s
1

(1) -2.9 2y 29
(3) —1.1 4 1.1
Options :

92090625365. 1
92090625366. 2
92090625367. 3



92090625368. 4

Question Number : 42 Question Id : 9209066414 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s 7|
WEE (2 3 4| % wfueaies oF & Soed % 9 2-
1 -2 o]
() -29 (2 29
£ ) R | 4 1.1
Options :

92090625365. 1
92090625366. 2
92090625367. 3
92090625368. 4

Question Number : 43 Question Id : 9209066415 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2
IfA=|2 1 3|and A®=0A”+ 4+, thenvalueof a—f—y.is

|1 -2 2

(1) 3 2y b
(3) 24 (4) 236

Options :

92090625369. 1
92090625370. 2
92090625371. 3
92090625372. 4

Question Number : 43 Question Id : 9209066415 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(1) 3 2 5
3 24 1) 36

Options :

92090625369. 1
92090625370. 2
92090625371. 3
92090625372. 4

Question Number : 44 Question Id : 9209066416 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 1 -100

The sum of squares of characteristic roots of the matrix |0 1 400 |, is
00 1
(1) 1 2 3
3 6 4 9
Options :

92090625373. 1
92090625374. 2
92090625375. 3
92090625376. 4

Question Number : 44 Question Id : 9209066416 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 1 -100
WEEE (0 1 400 | % sAfwsafes gei % a0 & 9n 8-
G, 0 o

(1) 1 2y 3
(3) 6 4 9

Options :

92090625373. 1
92090625374. 2
92090625375. 3



92090625376. 4

Question Number : 45 Question Id : 9209066417 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Suppose A 13 a square matrix of order 4 and | A | =8,

If |53-4ﬂrj (3 Atf_.l'-{--lA}:ll = A6", where A is not divisible by 6, then the value of a is

(1) 1 2 2
(3 20 4y 21

Options :

92090625377. 1
92090625378. 2
92090625379. 3
92090625380. 4

Question Number : 45 Question Id : 9209066417 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

M A, 4 Hife F T AR 7 9900 |A|~—£3 afe |2 Adj(3 Adj(4A))|=A6" & 1, 6 g1 fawr=a
i MawAA R

(1) 1 (2 2
3 20 4 21
Options :

92090625377. 1
92090625378. 2
92090625379. 3
92090625380. 4

Question Number : 46 Question Id : 9209066418 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let ¢(x) =x ++1+x" . The solution of differential equation Y1+ x* dy + 41+ ¥* dx =0, s

L ¢ e(=C 2 dx)+0(»=C
@ e -e(M=C @) ¢x)*" =C



Options :

92090625381. 1
92090625382. 2
92090625383. 3
92090625384. 4

Question Number : 46 Question Id : 9209066418 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT g(x)=x+y1+x%, FaFA FHFT A1+ 12 dy+ 41+ dr =0 F&A 2

(1 ¢ ¢y =C (@) plx)+0(»=C
(3 o(x)-g(y)=C 4 ¢(x)™ =C
Options :

92090625381. 1
92090625382. 2
92090625383. 3
92090625384. 4

Question Number : 47 Question Id : 9209066419 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The complimentary function of differential equation

d”y dy s

Lol S P N O T

dx* K dx o i

(1) Cie™ + C,e™ @) Ce™+Cpe™
8] Cie” + Cpe™ (4) Cpe* + Cpe™

Options :

92090625385. 1
92090625386. 2
92090625387. 3
92090625388. 4

Question Number : 47 Question Id : 9209066419 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2y dy 2z
el TS —= + 31 4+ 2y = o™ W Teh oM & -

2

dx”® elx
1) Cie™ + Cpe™ (& Ce* +Le™
(3) Cie™ + E'zif'i” (@) Ce*+ (::"';'.1:

Options :

92090625385. 1
92090625386. 2
92090625387. 3
92090625388. 4

Question Number : 48 Question Id : 9209066420 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The solution of differential equation ‘u’ll —2xidy+ \[’1 —2y* dx=0,is

D -2y +q1-2x2 =C @ x4l-3F +yd1-2? =C
(8)  x41-2y° +y41-2x=C (@) x41-2y% + yf1-222 =sin~" (xC)
Options :

92090625389. 1
92090625390. 2
92090625391. 3
92090625392. 4

Question Number : 48 Question Id : 9209066420 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SaHe T A1 —2x2dy+41-2y° dx =0 FIEAR -

(1) 4.;1—3,}’3 +41-22% =C (2) :454“1’1—3"2 +yl-x?=C

(3) xa,h — 2" +1‘|"|!1 —2¢* =(C (4) J:«,Irl— 2y° 4+ }'N'rI —2x* =gin™" (xC)

Options :

92090625389. 1
92090625390. 2
92090625391. 3
92090625392. 4



Question Number : 49 Question Id : 9209066421 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The value of & so that the differential equation (3x° +2y")dx + &y* dy =0 will become
exact, is
(1) 0 2y 1
(3 (4] (4) 10
Options :

92090625393. 1
92090625394. 2
92090625395. 3
92090625396. 4

Question Number : 49 Question Id : 9209066421 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
& % e 71 = U smss adfE (32 + 257 ) dx + & dy = 0 3919 &l -

(1) 0 2 1
(3) (4] (4) 10

Options :

92090625393. 1
92090625394. 2
92090625395. 3
92090625396. 4

Question Number : 50 Question Id : 9209066422 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

d 1 5 E iy
If ['=—/ then value of | tan™ x + - | 15

dx D+1} 1+x° )
(1) tan ' x+e* C (2) tan'x+e(C
(3) tan ' x + e C 4 tanlx+eC

Options :
92090625397. 1
92090625398. 2



92090625399. 3
92090625400. 4

Question Number : 50 Question Id : 9209066422 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

) 1 4 1. 3
uﬁ-ﬂ“f_-ﬂa !(L:in1.r+ _,|7=F['H'F|%—
dx D+1% 1422
(1} tan" x+e* C (2 tan'x+e*C
() tan " x+e C 4 tan”' x+e°C

Options :

92090625397. 1
92090625398. 2
92090625399. 3
92090625400. 4

Question Number : 51 Question Id : 9209066423 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two numbers are selected at random from the numbers 1, 2, 3....,24 with replacement. If 4
and B represent two events that the numbers drawn are multiples of 4 and 5 respectively,

then P[A|B]+ P[B|A] is equal to

(1) 1/4 2 16
(3) 11/12 (4) 512
Options :

92090625401. 1
92090625402. 2
92090625403. 3
92090625404. 4

Question Number : 51 Question Id : 9209066423 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



yierars ga wEnai 1, 2, 3., 24 F Aefew w0 W g gEwsdi # g I 2 3 A 7 B
TeAIH F W TER el w6 2 Tl E S e 4 79 5 % TS & a9
P[A|B]+P[B| A] =it & -

(1) 1/4 (2 18
(3) 11/12 4y 512
Options :

92090625401. 1
92090625402. 2
92090625403. 3
92090625404. 4

Question Number : 52 Question Id : 9209066424 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The weighted average of the first 2n natural numbers when every odd number is assigned
the weight —1 and every even number is assigned the weight +2 1=

(1) 2(n+1) (2 n+2
(3 2n+1 (4) n+l
Options :

92090625405. 1
92090625406. 2
92090625407. 3
92090625408. 4

Question Number : 52 Question Id : 9209066424 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TN 2 WIEHiae SEAIH] 6 9IG HEd 99 T G99 = i -1 9R a9] TS 99 569 i +2 "R
fafése forn = 2, €m-

(1) 2(n+1) 2 n+2
(3 2n+1 4y n+1
Options :

92090625405. 1
92090625406. 2
92090625407. 3
92090625408. 4



Question Number : 53 Question Id : 9209066425 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If P{A)=0.8, P(B)=04 and P(A J B)=0.8 then value of P{A U B), is

1y 03 (2) 04
(3 02 4 09

Options :

92090625409. 1
92090625410. 2
92090625411. 3
92090625412. 4

Question Number : 53 Question Id : 9209066425 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe P(A)=0.3, P(B)=0.4 3 P(AUuB)=08,78 P(AuB) FITA 2

(1) 0.3 2y 04
(3) 0.2 (4) 0.9

Options :

92090625409. 1
92090625410. 2
92090625411. 3
92090625412. 4

Question Number : 54 Question Id : 9209066426 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If 4 letters are to be placed randomly in 4 correspondingly addreassed envelopes then the
probability that all of them are not placed in right addressed envelopes, is

1 cxe 9
(1) H (Z) E
11 23
(3) = ) ==
24 24

Options :

92090625413. 1
92090625414. 2
92090625415. 3



92090625416. 4

Question Number : 54 Question Id : 9209066426 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4 4 T 4 94 a1t fTHTE % T Aigfea 9 d W@ A 8, a9 3 ° @i F " ud e forers o
TE] T i i 7 -

(1) (2)

1
11

3 S 4
() = (4)

B[y By
TN e T -

Options :

92090625413.
92090625414.
92090625415.
92090625416.

AW N —

Question Number : 55 Question Id : 9209066427 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 . 5 -y
If for some data f, = = f.=13 and ¢ =1, then value of —- | is
= JI.!'I

b

(1) 2 6
@ 4 4 B

Options :

92090625417. 1
92090625418. 2
92090625419. 3
92090625420. 4

Question Number : 55 Question Id : 9209066427 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



afe F3 sFE & fow g, :%,,&_,=.'5 a9 o =1, 78 £L % AE B-

M
1 2 (2) 6
(3) 1 (4) 5
Options :

92090625417. 1
92090625418. 2
92090625419. 3
92090625420. 4

Question Number : 56 Question Id : 9209066428 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Three dice are thrown simultaneously. If two events A and B represents that sum of
numbers drawn on three dice are multiples of 5 and 6 respectively then P{A v B} 1s equal
to

(1 1 2 u2
(3) 5216 (4) ABB3/388S
Options :

92090625421. 1
92090625422. 2
92090625423. 3
92090625424. 4

Question Number : 56 Question Id : 9209066428 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&9 I WY-EY % = £ gfe & weAnd A aun B =g 7€ & 6 AW wwi w fewd 08 densi
qM FHH: 5 AT 6 % OTH £ 99 P(A U B) SO & -

(1) 1 (2) 12
(3 5216 {4y ABBA3BES
Options :

92090625421. 1
92090625422. 2
92090625423. 3
92090625424. 4



Question Number : 57 Question Id : 9209066429 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two groups of 100 sample unitas and 150 sample units are clubbed together. If mean and
variance of first sample 15 15 and 9 and for the whole group 15.6 and 13.44 respectively,
then:

The mean of second group 1s

(1) 12 2y 16
(3) 10 (4) 28

Options :

92090625425. 1
92090625426. 2
92090625427. 3
92090625428. 4

Question Number : 57 Question Id : 9209066429 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

100 wfres 18 a4 150 ufded 5% F < 5uEl #1 vs |y fuen fem = 21 afe weam ufaest = oo
T YEAT 15 @91 9 8 79 [ W & Fofu e 15.6 991 13.44 2 74

fadfra =g =1 a1 2 -
h 12 (2) 16
(3) 10 4 28

Options :

92090625425. 1
92090625426. 2
92090625427. 3
92090625428. 4

Question Number : 58 Question Id : 9209066430 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A random variable X takes values 1, 2, ..., n with equal probability. Then Var(X) is

a9 o
n-+1 ; n- -1
1 2
m 12 (2) i
n®+1 n® -1
a3 4
(3) G (4) 12
Options :

92090625429. 1
92090625430. 2
92090625431. 3
92090625432. 4

Question Number : 58 Question Id : 9209066430 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TF qg<od W X, §UE WEEd F WY 1,2, ..., n 9F T4 #1 X F T 2

faia =g 1 39 =1 T E -
3 2
n-+1 ; n- -1
1 o e R
(1) 5 (2} :
i a2
n-+1 n- -1
3 4
3) 6 @ 12

Options :

92090625429. 1
92090625430. 2
92090625431. 3
92090625432. 4

Question Number : 59 Question Id : 9209066431 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If a random variable X assumes values 0, 1 and 2 with equal probabilities, then the moment
generating function of the random variable X about origin 18

(1) Il_i{l +e' +e™) (2) %{1 +e' +e™)

(3) %{:1 +e' +e%) (4) Il—i{‘:-'l +2 % 4gty

Options :
92090625433. 1



92090625434. 2
92090625435. 3
92090625436. 4

Question Number : 59 Question Id : 9209066431 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe Agfea® WX 0, 1 991 2 A 991 §0H WIidwal OEd 8, 76 Yoiieg F =W W qiwos = H
AT A Fed # -

(1) .1—1{1 +e' +e™) (2) %(1 +e +e™)
b | - f o 1 [ 2 At
(3) -ql[.i+v +e™) (4) E{{:- +e 4 ety

Options :

92090625433. 1
92090625434. 2
92090625435. 3
92090625436. 4

Question Number : 60 Question Id : 9209066432 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The moment generating function of random variable X 1s given by

;H,L.H‘}—;r. —oa < [ e
i (9— 8"
Var(X) .
15
E(Xy "’
1y 8 2 9
(3 17 4y 136

Then

Options :

92090625437. 1
92090625438. 2
92090625439. 3
92090625440. 4

Question Number : 60 Question Id : 9209066432 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Igfeasd X F AGUES Bor G T ] M""m_'(ﬂ:s—“ﬂ‘: —so < <o
o — OF

= Var(X)

E(X)
(1) & 2 9
(3) 17 (4) 136

Options :

92090625437. 1
92090625438. 2
92090625439. 3
92090625440. 4

Question Number : 61 Question Id : 9209066433 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1
9

b { k'
If X~ B!Ku =2 p= J Y~Bln=3p —1—! and X, Y are independently distributed then
L4 LY

: &)
P(2X +3Y =13) .18

1 3
ey (2)
108 108

25 1

3 _— 4 -
@) 108 @ 9

(1)

Options :

92090625441.
92090625442.
92090625443.
92090625444.

AW N~

Question Number : 61 Question Id : 9209066433 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i b1
;.-,_-z':,p;}jl,}fﬂ-ﬂf;r;:}_pzl] A X, Y 0= ®9 | faaia 2 79

i
., \ )

afe X ~B
LN
P(2X +3Y =13) & -

1 ; 5]
(1) — 2) —
108 2 108
25 1
(3 ——— (4 =
) 108 ) 9
Options :

92090625441. 1
92090625442. 2
92090625443. 3
92090625444. 4

Question Number : 62 Question Id : 9209066434 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The moment generating function of random variable X is given by

M ()= N I TN DR ,—ee <l <o
g9 9 9 3

Then P(X =), is

1 9
(1) 3 (2) 9
; 51 T
(3 9 (4) m

Options :

92090625445. 1
92090625446. 2
92090625447. 3
92090625448. 4

Question Number : 62 Question Id : 9209066434 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TEfr® = H ATAE Ho fea1 T # -

2 1 —i -2 2 i 1 2
Myl)=—+—2"+—2 +—e +—¢ ,—=<l<e
; g 9 9 9 3
7 P(X=0) 2
1 o
(1) a i) a

(3) (4)

| o
0| =3

Options :

92090625445. 1
92090625446. 2
92090625447. 3
92090625448. 4

Question Number : 63 Question Id : 9209066435 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i
In a sequence of Bernoulli |
%,

w trials, the probability of getting a third success at trial

bo | =
L

number seven, 1s

135 1
1 — a2 —
W 128 @ 2T
11 5
(3) — 71 P
128 ) 128

Options :

92090625449. 1
92090625450. 2
92090625451. 3
92090625452. 4

Question Number : 63 Question Id : 9209066435 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I o | SR T L — 4
aﬁ%]mﬁmn,mm?mﬁaﬁmmmmma—

15 ; |
1 _— @ et
2 128 2 27
11 5
o — 4) —
© 128 ) 128

Options :

92090625449. 1
92090625450. 2
92090625451. 3
92090625452. 4

Question Number : 64 Question Id : 9209066436 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The moment generating function of random variable X 1s given by

1

Ml{ﬁ)—m,—mﬁi{m,
Then E(X), is
(1) 8 @ 9
(3) 17 (4) 136

Options :

92090625453. 1
92090625454. 2
92090625455. 3
92090625456. 4

Question Number : 64 Question Id : 9209066436 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1

TRfe® = X = magh%ﬁqﬁmw%;wx{.r}_-{ —e<t<e T, E(X) -

53—55{*'}1?1
(1 8 @ 9
(3) 17 (4) 136
Options :

92090625453. 1



92090625454. 2
92090625455. 3
92090625456. 4

Question Number : 65 Question Id : 9209066437 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If a random variable X assumes values —1 and 1 with equal probabilities and M, (f) 1s its

moment generating function then

a.w_'{ {-MII':_} _1 —%

lim - 18
t—0

(1) 1/2 ()
(3) 1/24 4 0

[

Options :

92090625457. 1
92090625458. 2
92090625459. 3
92090625460. 4

Question Number : 65 Question Id : 9209066437 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ifg I Agfo® 91 X AUF WS 74971 —1 9 1 99 590 2 99 M, () T96 AUE B E,
My (Vi) -1

a9 lim =
1— =

3]

(1} 1/2 ()
(3) 1/24 4 0

Options :

92090625457. 1
92090625458. 2
92090625459. 3
92090625460. 4

Question Number : 66 Question Id : 9209066438 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Let (X,Y) be random wvariables with joint probability mass funetion

EavS | Y=

P[X=xY =y] =| || ¥i | ,¥=012,.,..,3 e = Then Var(Y) is equal to
WY lve)

(1) 1 2 2

(3 3 4 4

Options :

92090625461. 1
92090625462. 2
92090625463. 3
92090625464. 4

Question Number : 66 Question Id : 9209066438 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T (X, Y) FEaE =17 99 6gE Wil geE Eed

L ¥y=012_.xx=12.. 7 Var(Y) TR &-

PIX ==, }';,y]-—-[x]{?

\..}I )
(1 1 (2 2
(3 3 (4) 4
Options :

92090625461. 1
92090625462. 2
92090625463. 3
92090625464. 4

Question Number : 67 Question Id : 9209066439 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If X and Yareiid. ¥, variates, then the moment generating function of 2X —3Y | is

1 1
(1) —— (2 ——
1+ 2 —24¢° 1+ 28+ 241°

1 1
(3 _ 49 —
1—8f+18¢° 12— 244°

Options :

92090625465. 1
92090625466. 2
92090625467. 3



92090625468. 4

Question Number : 67 Question Id : 9209066439 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afg XaW Yiid p2, B R, 7 2X -3y %1 e T e 2-

1 1
1 —_— 2 —_—
) 1+ 28 —244° @ 1+ 2¢ 42417
1 1
(3) e iy ===
1—8f+18:6° 1-2¢—241°
Options :

92090625465. 1
92090625466. 2
92090625467. 3
92090625468. 4

Question Number : 68 Question Id : 9209066440 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The distribution of difference of two independent Chi-Square (2) variates is

(1) Triangular distribution (2) Beta Type I distribution
(3) Beta Type 11 distribution (4) Laplace distribuption

Options :

92090625469. 1
92090625470. 2
92090625471. 3
92090625472. 4

Question Number : 68 Question Id : 9209066440 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FEAFFE-T () TS I e -

(1) By E= (2) @ v=R 194
(3) @ v 11 " (4) wTAH g

Options :



92090625469. 1
92090625470. 2
92090625471. 3
92090625472. 4

Question Number : 69 Question Id : 9209066441 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The mode of F (4, 8) distribution, 15

(1) 04 2 06
3 08 4) 0.125

Options :

92090625473. 1
92090625474. 2
92090625475. 3
92090625476. 4

Question Number : 69 Question Id : 9209066441 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

F (4, 8) 524 &1 9T 2

(1) 0.4 2y 0.6
(3) 0.8 (4) 0.125

Options :

92090625473. 1
92090625474. 2
92090625475. 3
92090625476. 4

Question Number : 70 Question Id : 9209066442 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



q

If X ‘B{fr =8 p=

b | =

],Y"-B!(fr:.'i. ;J:%J and X, Y are independently distributed then
) LY :

PiX-Y=-1),18

149 : 5
(1 — 3
) 108 @) 108
25 1
3 P 4 =
@ 108 @ 9

Options :

92090625477.
92090625478.
92090625479.
92090625480.

AW N =

Question Number : 70 Question Id : 9209066442 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

b ' 1"

afg X‘-B{rrzﬁ,p'—'%,Y"-B:n-—."i,p=qJ dm X, Y Waa ¥ ¥ faAim g, =
LY LY L

=

P(X-Y=-1)% -
19
108

25 1
108 ]

(1)
(3)

Options :

920906254717.
92090625478.
92090625479.
92090625480.

AW N~

Question Number : 71 Question Id : 9209066443 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If X and ¥ are 1.1.d. N(0,1) variates, then moment generating funection of axX*_3¥* is

i : e’
1) —_— 2) —
1+ 2t — 24¢° A1+ 21— 2417

F-I_ F—:‘:-r”
@ —_— ) ——
V1 + 22407 1428241



Options :

92090625481. 1
92090625482. 2
92090625483. 3
92090625484. 4

Question Number : 71 Question Id : 9209066443 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e X a0 Y iid N(0,1) =R g, 7@ 2X° —3Y* =1 S wod & -

1 ;
(1) - (2) { -
31 + 2 — 2447 1+ 21— 244"

e ,—.':-r"
6) - ) ‘ .

1+2t—244° 1+2t—244°

Options :

92090625481. 1
92090625482. 2
92090625483. 3
92090625484. 4

Question Number : 72 Question Id : 9209066444 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If X~Ni{g=1,0"=2) and Y~ N(u¢=2,0" =1) and X and Y are independently distributed
then distribution of 2X —3Y, 1s

(1) N(u=-4,0" =17) (2) N(u=—4,o=17

(3) N(u=4,0" =16) (4 N(u=-4,0'=1)

Options :

92090625485. 1
92090625486. 2
92090625487. 3
92090625488. 4

Question Number : 72 Question Id : 9209066444 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



qe X ~N(u=1,0"=2) 9 Y~ N(u=2,0" =1) 9 X9 Y =4 &9 d faaia § 7@ 2X -3Y
FEH B -

(1) N(ug=—4,0"=17) (2 N(u=-4o0=17
(3) Nu=4,0 =16) 4 N@u=-4,c" =1

Options :

92090625485. 1
92090625486. 2
92090625487. 3
92090625488. 4

Question Number : 73 Question Id : 9209066445 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let X,,X,...X_  be a random sample from normal population N(g,o") and let
e AW

Fi

be another independent random sample (independent of the X.'s also) from

normal population N (u,, o*). If,

m-—1

o 1 [l R~ 1 ] i
5 = Z[XF—X}':SE '—ﬁZ{K-_Y}_s
r=1 Tl

_(m-1)8; +(n-1)S;

s> and & is
o+ —2
et X-Y ,
unknown, then the distribution of T'= —————-= under Hj : iy = i is
m n
By
(1) B, '(1— ¥ = (2 N(0,1)
L2 2
{:'5} Ir(lr:—rj—';'l {4} {,'m_h._”

Options :

92090625489. 1
92090625490. 2
92090625491. 3
92090625492. 4

Question Number : 73 Question Id : 9209066445 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



X, Xy, X, WEEHE W N(g,o°) ¥ U IRRSE WA R 9 AT Y, Y. LY,
T TR N (g, 0°) 8 T w=EE agEas T (X, s ¥ =) 2 A

a 1 - —_— i 1 » _—
1‘:;_: JY_—.Y _13:2_ }IF_Y o
: r.lil—llzIf ' ; = ?i—l;t' )
+2 -3 i
‘;g;_.i i {”i = 1}1‘3[ 4 ':.” — 1}1‘32 GEl n_i m %? = .Irfn :.LI'] - _'U._;: ':m :ﬂiﬂ_-{ T L, X = Y - F
m+n-2 T 3
S, —+—J
m n
Craf
1 n—=2% _
: By} <. 2) N(O,1
n Ko ) @ N@©1
{:]} I!'l:r.l.I +1i—2) {4} I!ll:r.l.' +n-1)

Options :

92090625489. 1
92090625490. 2
92090625491. 3
92090625492. 4

Question Number : 74 Question Id : 9209066446 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If X and Y areii.d Laplace (1, 1) variates, then moment generating function of 2X -V | is

( —i

e [
(1) _— (2) . -
15t + 41 1— 5% + 441
1 o
{ETJ' e f-i} {—,
19 —&* 1+ 90— &°

Options :

92090625493. 1
92090625494. 2
92090625495. 3
92090625496. 4

Question Number : 74 Question Id : 9209066446 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e X 70 Y i.i.d @E (1, 1) T &, 78 2X - Y 1 AgUeEs Hed & -

e ; e
(1) —_—r 2) —s——
152+ 4¢2° 15t +4¢
) 1 R
(3 — (4) {—
1-—38 -8~ 1+& -8~
Options :

92090625493. 1
92090625494. 2
92090625495. 3
92090625496. 4

Question Number : 75 Question Id : 9209066447 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The joint probability mass function of two random variables X and Y is given by

xly: 1 2 3
0 » 2Zp dp 1
3 P °P| where p=—
1 2p 4p 5p 32
2 3p bp Tp

The value of P[X=1|Y =2]+P[¥Y =2|X =1] is

ot : 2

(1 — ) R
) 11 ) 11

e 1 19
(3) i @ e

Options :

92090625497. 1
92090625498. 2
92090625499. 3
92090625500. 4

Question Number : 75 Question Id : 9209066447 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



71 Agfes W X A9 ¥ & g Wiasal geE-HeH &1 e mn 2

efy 1 2 3

0 2p 3p|_ .
P 2P °P| ot p= L 48 P[X=1|Y=2]+P[¥=2|X=1] FIWAR -

1 2p 4p 5p 32
2 3p 5p Tp

ot : 2

(1 e 9y =
) 11 ) 11

1 19

(3 — (499 —
) 21 ) 22

Options :

92090625497. 1
92090625498. 2
92090625499. 3
92090625500. 4

Question Number : 76 Question Id : 9209066448 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The joint probability density function of two random wvariables X and Y is given as :
Axy®, 0 <2x <3y <8,

f{-‘& ,‘.l'r.:' - v . A )
0, otherwise

Then value of 4 1s

1 ; 2
1 — = —
(1) . (2) 5
’ 5 1
a4 e 4 e
) 36 @ 18

Options :

92090625501. 1
92090625502. 2
92090625503. 3
92090625504. 4

Question Number : 76 Question Id : 9209066448 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



7 FTgieae =i X 791 Y &1 6ga UIidedl 940 Feid 36 TR e 7
[Ay*. 0<2x <3y <6,

flx,n=
lo, FA]
T, A FAAR
1 oo B
i = A=) -3
5 1
s £y,
T @ 1

Options :

92090625501. 1
92090625502. 2
92090625503. 3
92090625504. 4

Question Number : 77 Question Id : 9209066449 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The joint probability density function of two random variables X and Y is given by :

1 1
Jd<x<e and —< y<x,
X

flx, y)=1q2x"y
] 0, otherwise
5 .
Then value of P[Y > — ‘I 15
\ 4)
dy ik @ 1
2 |
2 i
(:3) = (4 =
5 9
Options :

92090625505. 1
92090625506. 2
92090625507. 3
92090625508. 4

Question Number : 77 Question Id : 9209066449 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



7 Agfas 9 X 791 Y F1 599 WidEal 99 Fed 39 TER G &

1
——.l<x<es Yl —<y<x,

f(x, ¥)=12c% x
Wﬂ, £ 0]
A

74, P!{Y :%1! HUA &

b =)

1 ; 1
1 — a =
(1) z (2) 7
@ 3 iy 2

5 )

Options :

92090625505. 1
92090625506. 2
92090625507. 3
92090625508. 4

Question Number : 78 Question Id : 9209066450 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let the WLLN holds true for the sequence of random wvariables X, X,... Let

S =X +X,+...+4X, and Y, -—l'[S,r—EI[SH}]' for nz1. If lim E| Y, —|=4, then the
n

E—3em I_]_+ }"”-_I

value of A is

(1) 0 2) 1
@ -1 (1) oo
Options :

92090625509. 1
92090625510. 2
92090625511. 3
92090625512. 4

Question Number : 78 Question Id : 9209066450 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A Agfees Wi X, X,,.. % %A % fo0 WLLN W9 & 21 991 S, =X, + X, +...+ X @

1+¥"

il —¥e=

' -_-l{s,, —~E(S,)); n=13fE lim E[ Y ;]M- 79 1 1 AUA -
I

(1) 0 (™ 1
(3 -1 (4) ==

Options :

92090625509. 1
92090625510. 2
92090625511. 3
92090625512. 4

Question Number : 79 Question Id : 9209066451 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The joint probability density function of two random variables X and Y is given by
1
—— lcxgmand —< y<x
[, 9)={25 oy
1{1 otherwise

L]
2

Then the value of P[Y < ] 18

(1) (2)

[

(3) (4)

R | b

Options :

92090625513. 1
92090625514. 2
92090625515. 3
92090625516. 4

Question Number : 79 Question Id : 9209066451 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



21 Argfeas =i X Ayl Y 1 949 Niasal 9w e 36 UER e 2

—1-— 1< x < =g l{y{x
!'(I”},}.._. E:rz-'-': -1_ .

0 A

7, P;}'q%;aﬂm%

(1) (2)

b |

() (4)

o | b
=1 IR

Options :

92090625513. 1
92090625514. 2
92090625515. 3
92090625516. 4

Question Number : 80 Question Id : 9209066452 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. sl . i ey
The joint distribution of two random variables X and Y is [(x, ¥) = q!r T lex <4 and

0= y<e. Then E(Y) is

log 2 2log 2
1 B o bt - )
(1) 3 (2) 3

y ) 0 P
(3 4111:3,_ @ .dlnlgl.,}

-.Jp 13

Options :

92090625517. 1
92090625518. 2
92090625519. 3
92090625520. 4

Question Number : 80 Question Id : 9209066452 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AT @ Agfeee 90 X a9 Y 1 5 69 # -

X

flx, ) ﬂqf—n,l sx<d,0<y<e
™ E(Y) ®
I.') [} o
a e2 @ 2.2
3 3
= : -
(3) 4log, 2 ) 2log.9
] 3
Options :

92090625517. 1
92090625518. 2
92090625519. 3
92090625520. 4

Question Number : 81 Question Id : 9209066453 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let X,.X,.. be a sequence of random wvariables and Y, =]—{SIF—E{S"}]: where
1

2

S,=X;+X.+ ...+ X, Then for WLLN to hold true, the condition lim E{ Y, J — 4,18

]

e |14+ ¥}

(1) Necessary for A=0 (2) Sufficient for A =10

(3 Necessary and sufficient for A =0 (4) Necessary and sufficient for A==

Options :

92090625521. 1
92090625522. 2
92090625523. 3
92090625524. 4

Question Number : 81 Question Id : 9209066453 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

]

o X, X,,.. Gge® W H FAHEHE 2 a9 Y, =%{S,r—E{S”}]. el 8. =X +X,+..+X

8 Y
b

1+%.)

S |

¥

e —he

74 WLLN % 9419 8 & fom, ufaey lim E{

(1) A=0 F 50 s=9= (@ A=0 % fow w=m
) A=0 % fou A=EwEs 79 [@iH (4) A=e % U ATHIES T4 THH



Options :

92090625521. 1
92090625522. 2
92090625523. 3
92090625524. 4

Question Number : 82 Question Id : 9209066454 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For a sequence of random variable X, X,...,

var{X, )=l andfori=j,

[# |i-j|=1.23

covi(X. X ;)=
il ll} otherwise

The sequence follows the WLLN for

(1) fg=1 (2 B=2
(3 f=3 (4) for any finite value of g

Options :

92090625525. 1
92090625526. 2
92090625527. 3
92090625528. 4

Question Number : 82 Question Id : 9209066454 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e W X, X,..., F 73 % fom

var(X;)=1 3 i » j & fou
B |i-il=1.23

L'ﬂvl[X,-XJ} ={
0, A

a9 9 & foheh fon 59 Sigshn o WLLN &0 & -

(1) =1 (2) pf=2
3 f>3 (4) f = Tt ff Hifug o & forg
Options :

92090625525. 1
92090625526. 2
92090625527. 3



92090625528. 4

Question Number : 83 Question Id : 9209066455 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let X, X,,...X, be a random sample from population with probability density function

) Lk
fix,8) = “{6;3 l}_. D=zx <@ and = 0. The estimate of & by method of moments, 1s
() X (2) 2X
(3 83X (4 4X

Options :

92090625529. 1
92090625530. 2
92090625531. 3
92090625532. 4

Question Number : 83 Question Id : 9209066455 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e X,.X,..X 6= F = ages view @ e fl{xﬁ}'—-zmg;x},ﬂ«:xezﬂ T 650

Wifasal 990 %ed 21 78 gyl fafa g ¢ w1 A 2

(1) X (2) 2
(3 ax (4 4

el el

Options :

92090625529. 1
92090625530. 2
92090625531. 3
92090625532. 4

Question Number : 84 Question Id : 9209066456 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If T, and T, are two distinct unbiased estimators of y(#) and T = E(T} | T), then

(1) Var(T) = Var(T}) (2) Var(T)<Var(T))
()] Var(T) = Var(T,) (4)  Var(T)=Var(T,)



Options :

92090625533. 1
92090625534. 2
92090625535. 3
92090625536. 4

Question Number : 84 Question Id : 9209066456 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe T, q41 T,, p(#) % & 94% AT e & a1 T = E(T, | T), 7@

(1) Var(T) = Var(T}) (2) Var(T) = Var(T,)
(3 Var(T) = Var(T,) (4)  Var(T)=Var(T,)

Options :

92090625533. 1
92090625534. 2
92090625535. 3
92090625536. 4

Question Number : 85 Question Id : 9209066457 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let X,, X,,...,X, be a random sample from population U{0, &), #>0. Then maximum
likelihood estimate of &, 15

XI nj

2 2

{:!} Xl n) (4) Xf] }

(1)

Options :

92090625537. 1
92090625538. 2
92090625539. 3
92090625540. 4

Question Number : 85 Question Id : 9209066457 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



oA X, X,, ... X, "R U(0,8), 8>0 § IR0 T4 2| 99 6 F I=AH HYIEd A 8-

h (2) ﬁ
2 p

B X 4 Xy

(1) -1

Options :

92090625537. 1
92090625538. 2
92090625539. 3
92090625540. 4

Question Number : 86 Question Id : 9209066458 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Suppose X,. X,....X,,, is a random sample from N(u=6, 0" =100) and Z is a standard

normal variate such that P[Z >z .]= % . Then 100 (1 — @)% confidence interval for & is

P BB, =il = =
1 X aiz ¥l cif 2 X —Z, 0. X +Z,,,
D 10 10 @ | arz X+ Zy13)
® [x-lz . %+lz @ (%-Zez 5, Zass)
g T 100 100 |

Options :

92090625541. 1
92090625542. 2
92090625543. 3
92090625544. 4

Question Number : 86 Question Id : 9209066458 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T X, X, Xy N(u=6, 0" =100) ¥ U5 q5ias 0 & 991 Z 0% 9h& HE 99 9
TR 7 & P[Z::-zu_,:]u%,'rlﬁ 8 & fam 100 (1 - @)% Tavars da0a 8 -

R TR es

o) Lx--ﬁr,)n mJ @& E-Z,0.X+Z,)
@ |X-1z ,.X+ilz,, (4) f;?—z 5 oy Leri |
g “ain X T gL ¥ " Too 100 )

Options :
92090625541. 1



92090625542. 2
92090625543. 3
92090625544. 4

Question Number : 87 Question Id : 9209066459 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let X, X,....X, bearandom sample from the population with probability density funection

flx)=e" x>8 and 8 >0. The estimate of # by method of moments is
(1) X & X=1
(3  2X (4) 3X

Options :

92090625545. 1
92090625546. 2
92090625547. 3
92090625548. 4

Question Number : 87 Question Id : 9209066459 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

M X, X,,.... X, 9 4 vF agfos ufdes @ s f(x) =" x>0 W >0 WD
e %ol 21 7 sy fafa g @ W e & -

iy X @ X-1
(3) 2X (4 33X
Options :

92090625545. 1
92090625546. 2
92090625547. 3
92090625548. 4

Question Number : 88 Question Id : 9209066460 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Cramer-Rao lower bound for the variance of an unbiased estimator of # in case a

o
—_— : ! 2 . !
sample of size n is deawn from the exponential | 7 | population is
LY A

g* : g
(1) — (Z} ==
b w,lr;
26° 26°
(3) s (4) =%
] 1";

Options :

92090625549. 1
92090625550. 2
92090625551. 3
92090625552. 4

Question Number : 88 Question Id : 9209066460 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

n HATHR F UF T4 H SO f.;i| Tmfee | e 9 2 99, ¢ & Uh FANET e 5 S
LY A

¥ fom w1 fe ofeg 2 -

f}i

L

(1 (2)

gs

bE
T

26" (4)

I I

(3)

Options :

92090625549. 1
92090625550. 2
92090625551. 3
92090625552. 4

Question Number : 89 Question Id : 9209066461 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A random sample of size n is drawn from the population with probability density funetion

Dae
flx, 5!'}_-;—?, O<x<#. Suppose X, denotes the largest sample observation and

E(AX, ., )=¢. Then the value of A is given by

1 .~ B
(1) 3 (2) 7
@) (Zn +1) ) (n+1)
2n 1l
Options :

92090625553. 1
92090625554. 2
92090625555. 3
92090625556. 4

Question Number : 89 Question Id : 9209066461 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o F

n T 1 UF AE=EE T 30 TR | TR s & 6 fu;x.ﬂ}=zx 0 <x <@ WiasHd g9
Her 21 9 X, T8 TN G0 i gui & 9 E(AX, ) =6. 78 A %196 fem 9 8-

ks
2
(2n+1) (n+1)

2 n

(1)

—
b2
L

wltu

(3}

Options :

92090625553. 1
92090625554. 2
92090625555. 3
92090625556. 4

Question Number : 90 Question Id : 9209066462 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



. ; ; e 1 :
If T} and T, are two unbiased estimators of y(#) with efficiencies = and o respectively and

£ is Karl Pearson coefficient of correlation between T, and T,. then ( il _:;'!?':J will always
b}

N
be less than
(1) 1/3 () 12
(3) 374 4) 4/5

Options :

92090625557. 1
92090625558. 2
92090625559. 3
92090625560. 4

Question Number : 90 Question Id : 9209066462 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe T, a1 T,, p(6) & & IWAMHT Ahed £ fadh] 8T A %W%ﬁﬂ?ﬂ o Tomi
-,IE

%ﬁ%mﬂwwﬁ—mwﬁ%ﬁ[p—%' Ted 9 FH B -

(1) 1/3 2 12
(3 3/4 4) 45

Options :

92090625557. 1
92090625558. 2
92090625559. 3
92090625560. 4

Question Number : 91 Question Id : 9209066463 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When sample of size 125 is drawn from normal population with parameters (100, ¢°) and for
testing H, :0" =0, against H, :o" 207, if a is the value of test statistic (Z-value)
computed from sample and P (test-statistic <a) = 1-4 then p-value of test is

(1) i} @ 1-4

(3) L= (4) 24

b | 2y



Options :

92090625561. 1
92090625562. 2
92090625563. 3
92090625564. 4

Question Number : 91 Question Id : 9209066463 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T8 AWM (FES) 125 w1 W wEEE @t |, s wEE (100, oF) #, e 9o e
H,:6" =0, Wagda H,:0" 20, & wfiem 5 fou, afe o 70 @ il waw ofeds
(Z-9M) =1 9H & 741 P (wiiew 9fiee\ <a)=1- 6, 79 9089 #1 p-aF &

(1) g 2y 1-4
(3) 1—% (4 26
Options :
92090625561. 1
92090625562. 2
92090625563. 3

92090625564. 4

Question Number : 92 Question Id : 9209066464 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

From a normal population with unknown variance, a sample of size 25 with mean = 30 and
sample variance (s°) =16 is selected for testing H, : u =28 against H, : g # 28 . The value of
the test statistic is

(1) -5 2 25
(3 125 (4) 6.25

Options :

92090625565. 1
92090625566. 2
92090625567. 3
92090625568. 4

Question Number : 92 Question Id : 9209066464 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AAE WU & A UH WHM #EfE H, #WM 25 & A e W= = 30 @ wiee
T (s%) =16 Th@w = foTu g S & @ H o p=28 WAty H| :u o+ 28 79 9y ufhagE w5
WA R -

(1) -5 (*y 2.5
(3) 1.25 4 625

Options :

92090625565. 1
92090625566. 2
92090625567 3
92090625568. 4

Question Number : 93 Question Id : 9209066465 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A random sample of size 16 from a normal population with standard deviation = 4 has
mean = 27. For testing I, : 4 =30 against I, : g < 30, the p-value of the test is

[if X ~ N (0. 1). then P[|X|<1]=0.6826, P| X|<2]=0.9544, P| X |<3]=0.9973]

(1) 0.00270 (2) 0.04565
(3) 0.31745 (4) 0.00135

Options :

92090625569. 1
92090625570. 2
92090625571. 3
92090625572. 4

Question Number : 93 Question Id : 9209066465 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

THH ®EfR § WY 16 1 UF Agfow ulaey faae uee fames = 4 2, W = 27 e 2
Hy:p=30 S H, - g <30 % afew 5 faw, wiem 1 pamd 2 -

@R X ~N(0.1), 7 P[X|<1]=0.6826, P|X|<2]=0.9544, P X|<3]=0.9973)

(1)  0.00270 (2) 0.04565
(3) 0.31745 (4) 0.00135
Options :

92090625569. 1
92090625570. 2



92090625571. 3
92090625572. 4

Question Number : 94 Question Id : 9209066466 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let X, X,....X, be a random sample from normal population N(#, ¢°), ¢° known and

W= qu:ﬂ. 5 O 35 T8 o | —j"’-z,,]r is the critical region for testing H,:0=6,, against
I

H, :8=8 (8 <8,), then power of test is

)

Use ©(@)= j -.,":3_‘, 2 dx
I

R ) 8, -6
1 | L - 2 1-p 2L
B (7= J @ [mrr”“J
; B—6 6-6 _ |
k| i1 z 4 L1 4] -
& [Jf&:r t “J @ \o'.-"]n qu

Options :

92090625573. 1
92090625574. 2
92090625575. 3
92090625576. 4

Question Number : 94 Question Id : 9209066466 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 X, X,,.... X, TEH @6 N(8, o) H AEfe® T €, o° W B

LEll ﬂ”,]:JII{X], X:,....,X_,,}:J_{c:m—%zu H,:0=¢, 9@\ H :0=6 (6, <6, & &0 5
L H 4

foru swifaes &3 2, 78 e i o= 2 -

II){M]'=I 6 {?de:

- 1

(1) ﬁl[&'_gl —sz (2) l—ﬂ)[g"_g‘ +2”J
Lo Lain
?H[I—ﬁ'l [ﬂl _f’ltl \

3 P —— 1 P =

@) [M,}-r +zu] @ o2z

Options :
92090625573. 1



92090625574. 2
92090625575. 3
92090625576. 4

Question Number : 95 Question Id : 9209066467 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Let X,,1=1,2_.5 be a random sample of size 5 from Bernoulli distribution with the
¥ ] 1 d g
parameter #(0<#&<1). For testing the null hypothesis H, :ng against the alternative
hypothesis H, : EI‘:T__ value of test statistics 15 Y :Z‘Yr CIf H 1s rejected, when Y =24

r=1

then probability of tvpe I1 error 1=

(1) 1/64 (2) 6364
() 1/256 (1) 255/256
Options :

92090625577. 1
92090625578. 2
92090625579. 3
92090625580. 4

Question Number : 95 Question Id : 9209066467 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

W X, i=1,2...5 S5 924 § AWM 5 F A5=IH I 2, e w=a 0(0< 6 <1) B THE H

fou i oftsean Hr,:ta'_-l ufy SRfcas T IL_-.s';l,%ﬂfraﬂr?mﬁqﬁaqﬁw
8 4

Hfdes #1 7 Y_ix__%w% H, afesFa %, 59 Y 24, 79 v 11 3fz i mfasa 2 -

(1) 1/64 (2) 6364
(3) 1/256 (4) 255/256

Options :

92090625577. 1
92090625578. 2
92090625579. 3
92090625580. 4

Question Number : 96 Question Id : 9209066468 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

[dentify the confounded effect(s) from the following sub blocks

(1) b

be ¢

€1 il

abe cie

(1) AB (2) BC
(3) AC (4) ABC

Options :

92090625581. 1
92090625582. 2
92090625583. 3
92090625584. 4

Question Number : 96 Question Id : 9209066468 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 39-==T% § H9w U 6 TEEE 1 -

(1) b

be &

(r ab

abe e

(1) AB 2y BC
(3) AC (4) ABC
Options :

92090625581. 1
92090625582. 2
92090625583. 3
92090625584. 4

Question Number : 97 Question Id : 9209066469 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



To study the equality of average scores, a school administrator wants to test the consistency
of scores in three statistics classes each containing 5. 7 and 6 students and prepare an
ANOVA table. If the sum of squares between groups 1z 500; and total sum of squares 1s 900,
then the value of F-Statistics used for testing equality of class scores 1s

(1) 1 (2) 6375
(3) 2125 (1) 9375

Options :

92090625585. 1
92090625586. 2
92090625587. 3
92090625588. 4

Question Number : 97 Question Id : 9209066469 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FHA TR ] AAEA & AHE & U, FIE e 99EE dF Gieasl was °, Ted g e o
5, 7791 6 O &, ThR Sl FM H WA FEA & 79 ANOVA Fnvfi #ar =2 81 3fe 398 + 49
4l H AW 500 # FU1 A H HA AW 900 B, 99 Hal TR & wEw H gEEG & g @
F-H7fEa# %1 9[ & -

(1) 1 (2) 6375
(3) 2125 (4 9.375

Options :

92090625585. 1
92090625586. 2
92090625587. 3
92090625588. 4

Question Number : 98 Question Id : 9209066470 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A achool administrator, interested in studying the equality of average scores, wants to test
the consistency of scores in three statistics classes having 5, 7 and 6 students and prepares
ANOVA table. The sum of squares within groups is 500 and total sum of squares 18 800,
Then the value of F-statistic used for testing equality of average class scores 15

(1 05 @ 15

() 12.5 4) 4.5

Options :
92090625589. 1
92090625590. 2



92090625591. 3
92090625592. 4

Question Number : 98 Question Id : 9209066470 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3EA FRA B GEET F S $ U, FE T TS dF JiEaeh e ¥, T ues e 1
5, 7 @1 6 B1F &, TR 1 WA H T FEdT 2 991 ANOVA SRl dar &1 21 9fg 59 & &4
H Fmi &1 AR S00 71 I H FA AW 800 &, 79 3iEd FA T F TWew H FHEA & o wge
F-Hifeqeh! & 7F & -

(1) 0.5 2 156
(3) 12.5 (4) 45

Options :

92090625589. 1
92090625590. 2
92090625591. 3
92090625592. 4

Question Number : 99 Question Id : 9209066471 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
For a 3° factorial experiment, the quadratic effect for factor A is given by

1) (a* -1 -1 @ (a*-2a+1)(b*-1)

(@) (@ —2a+1)(1+b+b") ) (Q+a+a)l+b+bH)

Options :

92090625593. 1
92090625594. 2
92090625595. 3
92090625596. 4

Question Number : 99 Question Id : 9209066471 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3% swmafora v & fou, a2 A < o fgam yvma fean sman 2 -

0 (@-DE-D @  (a*-2a+1)(b* 1)
@ (@®-2a+DA+b+b%) (4) (Q+a+a”)(1+b+b%)

Options :

92090625593. 1
92090625594. 2
92090625595. 3
92090625596. 4

Question Number : 100 Question Id : 9209066472 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

To study the equality of average scores, a school administrator wants to test the consistency
of scores in three statistics classes each containing 5, 7 and 6 students and prepare an
ANOVA table. If sum of squares between groups 15 475 and total sum of squares is 600, then
the value of mean error sum of squares is

(1) 14/5 (2) 25/3
(3) 15/2 (4) 19/8

Options :

92090625597.
92090625598.
92090625599.
92090625600.

AW D~

Question Number : 100 Question Id : 9209066472 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3HA TR ] GEEA & AT & 0, FIE T 99EE dF JIETl ®aa °, e g e |
5, 7991 6 O &, TR i T w1 a9 FGEa 2 a9 ANOVA Jrvft #ar 0 21 3fe aqE F 99
U F GO 4TS qA 0 R FA AN 600 B, T iEA Fa R F Wew 1 FuEa & o wE
F-HTEHh %1 71 & -

(1) 14/5 2y 253
(3) 15/2 (4) 19/8

Options :

92090625597.
92090625598.
92090625599.
92090625600.

AW N~



